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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three
marks each.

(v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viit) Use of calculators is not permitted.

Section - A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct option.

1. HCF of two numbers is 27 and their LCM is 162. If one of the number is
54, then the other number is
(a) 36 (b) 35 () 9 (d) 81 1
2. The cumulative frequency table is useful in determining
(a) Mean (b) Median
(¢) Mode (d) All of these 1
|.430/2/1.] 3 P.T.O.
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3mehfd-1 H, O 99 %1 g 8 | PQ T i1 2 991 PT, P W U% &991 @1 §, 1 PQ %

1Y 50° HT DIV FATd 2 | £ POQ HITHN &

(a) 130° (b) 90° (©) 100° d) 75°
i .
6]
-1
243 T
(a) U 2 | (b) TFET @R |
(c) STUNHT T2 | (d) T Ui T g |

T Torereh ek 1Y 3BT MU | 37Teres W 3AfIeh Ueh et 31 bl ITrshaT B

1 1 2 3
(a) Z (b) 5 (© g (d) Z

e TG (322 + 8x + k) 1 Ueh I GO HI FHA 8, AT kK HIAM 3 -

(2) 3 (b) -3 © % () _%
—252352 1 CIHTS THN CIHeTd % fehd THI o oTe Hid BN ?

(a) 2 (b) 4 © 5 (d 1

Teh <fiF HITd dTct 9gUG oh I[A%hi ohi TTUhaH T & -
(a) 1 (b) 4 © 2 @ 3
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3. In Fig. 1, O is the centre of circle. PQ is a chord and PT is tangent at P

which makes an angle of 50° with PQ. £ POQ is

(a) 130° (b) 90° (c) 100° (d) 75° 1

Figure-1

4. 243 is

(a) an integer (b) a rational number

(¢c) an irrational number (d) a whole number 1
5. Two coins are tossed simultaneously. The probability of getting at most

one head is

1 1 2 3
— b) — = d — 1

(a) 1 (b) 5 (c) : (d) 1
6. If one zero of the polynomial (3x% + 8x + k) is the reciprocal of the other,

then value of k 1s

(@) 3 (b) -3 © + @ -+ 1

3 3
7. The decimal expansion of ﬂ will terminate after how many places of
X

decimal ?

(a) 2 (b) 4 () 5 (d 1 1
8. The maximum number of zeroes a cubic polynomial can have, is

(a) 1 (b) 4 (c) 2 (d) 3 1
430 5 P.T.0.
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9. fig(-12,5) Fiqgafagagliz:
(a) 12 () 5 (c) 13 (d) 169 1

10. TG T I 1 hwg; (3, 5) & TUT Toh =A™ o 37d 1oig (4, 7) AT (2, y) &, Wy HIAF & -

(a) 3 (b) -3 () 7 @ 4 1
T 11 ¥ 15 H e T 61 gfd hife
11. T foig aen feigati (4, 0) 1 (0, 6) § S+ TS 1 &=t 3 . 1
AU
fagati A(1, 3) a1 B(4, 6) &1 e arel W@r@e &l 2 : 1§ fquifom e amt fog &
fréwmwd: . 1
12. Toumd afiehtor 42 — x — 6 = 0 % &l o OH g1 1
13. aﬁsinez%é,ﬁtane?ﬂqﬁ 2 1
14. (tan260° + sin245°) HTAM & 1

15. & THEd Py 1 T st § 3 : 4 T I 7, 9 3 S b Sl &1 S

H 1
T 16 T 20 o I T :
16. (cos 48° — sin 42°) ST UM 1A HIFT | 1
AU
T F1d ST : (tan 23°) x (tan 67°) 1
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9. The distance of the point (=12, 5) from the origin is
(a) 12 (b) 5 (c) 13 (d) 169 1

10. If the centre of a circle is (3, 5) and end points of a diameter are (4, 7) and
(2, y), then the value of y 1s

(a) 3 (b) -3 © 17 d) 4 1

Question numbers 11 to 15, fill in the blanks :

11. The area of triangle formed with the origin and the points (4, 0) and (0, 6)

18 . 1
OR
The co-ordinate of the point dividing the line segment joining the points
A(1, 3) and B(4, 6) in the ratio 2 : 11s 2 1
12. Value of the roots of the quadratic equation, x2 —x — 6 =0 are . 1
13. Ifsin6= %, then the value of tan 0 is . 1
14. The value of (tan260° + sin245°) is . 1

15. The corresponding sides of two similar triangles are in the ratio 3 : 4, then
the ratios of the area of triangles is . 1

Question numbers 16 to 20, answer the following :

16. Find the value of (cos 48° — sin 42°). 1
OR

Evaluate : (tan 23°) x (tan 67°) 1

430 . P.T.0.
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17.

18.

19.

20.

21.

22.

IRId-2 |, T Tehesd gail, Feht o O B a2 ekt forsamd 7 et qen 3.5 oft &,
PQ T AB G # 1 9f £ POQ = 30° 2, T STifhd AT T Shet 71 HIAT |

IT=B] TR G Bl g 52 U aTeht arel hi TG H H ATGTHAT Teh I R T | T
HTAT SETE T <hl ITRRdT T8 ?

25 ™ el T Ht weh yad % Prer d H ugedt 8, MM A 24 H A JAE w7 |
HIE1 oh TG qUT He o HTH o st shl gl F1d shifT |

Ife 3k — 2, 4k — 6 AT k + 2 TS TR I & A UE 3, a1 k 1 7H 1 T |

Qg -«

9 G121 © 26 T T U 2 I B |
Teh SAed W 10 W 319 9T 25 Wl & | Teh 310 U hl TRbaT R 8 7

o S Tt Teh UNER |, 1 T A ¢ TTSeh Bl shl TRIehdT STTd shIToTT |
JnerEn

1 T8 T |1 V1o T | e <Rl ek sima iR

() T UTE W EE ST 3 6

(i) < TS HTAM 9 F fyE B i
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In figure-2 PQ and AB are two arcs of concentric circles of radii 7 cm and

3.5 cm resp., with centre O. If £ POQ = 30° then find the area of shaded
region. 1

A card 1s drawn at random from a well shuffled deck of 52 playing cards.
What is the probability of getting a black king ? 1

A ladder 25 m long just reaches the top of a building 24 m high from the
ground. What is the distance of the foot of ladder from the base of the
building ? 1

If 3k — 2, 4k — 6 and k + 2 are three consecutive terms of A.P., then find the
value of k. 1

Section - B

Question numbers 21 to 26 carry 2 marks each.

In a lottery, there are 10 prizes and 25 blanks. What is the probability of
getting a prize ? 2

In a family of three children, find the probability of having at least two
boys. 2

OR
Two dice are tossed simultaneously. Find the probability of getting
(1) an even number on both dice.

(1) the sum of two numbers more than 9. 2

|.430/2/1. | 9 P.T.O.
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23. T Hehgld il o1 BTG 5 Tefl a2 3 Tt § | 91 I 1 38 ST shl TS T hie1g A

=

B I I T LA 2 | 2
24. fag Fifsu e 1_ + 1, = 2 sec?0 2
1+sin® 1-sinB
AU
_ 2
Torg hifve e - 1 tan26 = cos20 — sin20 2
1+ tan“0

25. I Hglehed o Teh Ufeq ohl Forsarm 35 Tt 8 | 11 i ol gl 7 e H gy =hl feha =reent
T AT & 7 2

26. (2x2 —x + 3) I (2 — x) T 9T ERTT | YTTHS T AT off forfgw | 2

Queg -1
9 G 27 9 34 dh Yk 9 h 3 37h @ |

217. af\aaamﬁagcraf(x):5x2—7x+1éaw%‘,aﬁ(%+Ej?mmamaﬁ’rm| 3
o
28. 7 Ut ASTE 1 Uh @RS Wifaw aUT 39 2 : 3 % Irurd H fyurfra Sifsr | 3
EDE)
4 Tt s <1 U I WU qe 39k w5 § 7 9l <1 gl o Foaa wh wiTe feig € 9 W
Tl Tt @ i | 3

29. T ! I e ATl g5 21 S e @ | 39 g0 20 e # Wed & 1 &Fhe adn
TEh! ek g 7 <1 TS gt [T <hITT | 3

30. IEx=3sinO+4cosOTAy=23cos0—4sin 02, d g Hifu s 2 +y2=25 3

AU
Ife sin 0 + sin20 = 1 8, a1 fig HIT 6 cos20 + cos0 = 1. 3
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23. Two concentric circles are of radii 5 cm and 3 cm. Find the length of the

chord of larger circle which touches the smaller circle. 2
1 1 ,
24. Prove that : . + . = 2 sec“0 2
1+sin® 1-sinB
OR
a2
Prove that : w = c0s20 — sin20 2
1+tan“0

25. The wheel of a motorcycle is of radius 35 cm. How many revolutions are
required to travel a distance of 11 m ? 2

26. Divide (2x2 — x + 3) by (2 — x) and write the quotient and the remainder. 2

Section - C

Question numbers 27 to 34 carry 3 marks each.
27. If o and B are the zeroes of the polynomial f(x) = 5x2 — 7x + 1, then find the

value of | < + B . 3
B a
28. Draw a line segment of length 7 cm and divide it in the ratio 2 : 3. 3
OR

Draw a circle of radius 4 cm and construct the pair of tangents to the
circle from an external point, which is at a distance of 7 cm from its
centre. 3

29. The minute hand of a clock is 21 ¢m long. Calculate the area swept by it
and the distance travelled by its tip in 20 minutes. 3

30. Ifx=3sin0+ 4 cos0andy=3cos0—4sin 0 then prove that x2 +y2=25. 3

OR
If sin 0 + sin?0 = 1; then prove that cos20 + cos*0 = 1. 3
WETTIN " PT.O.
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31. fygHhifufe /3 e sofaa g g | 3
Jrq
JfFAE TETTRH o TN & 272 GAT 1032 1 Hgad FHMats (HCF) 3 shifr | 3
32. Th 3 ABCD @ 3%1: &7 1 T fog P & g, 1 firg i 6 PA2 + PC2 = PB2 +
PD2 3
33. ferelt ser o, =R i foigati A, B, C 31k D W &3 3T &, ST ok STThid-3 o qumia a2
Iq7 3R THEA HeT b I T & 3N F e b ¢ o 915, =1, Iuel d B 2,
FIT A 21 |radl B o6 ABCD b af 8 77 =vcll 364 €89d 21 & | gl ¥ <l SN
Tk, FAT3T fh ST HH TS B ? 3
10 _
9 i
8 1 e
6 ! ..:
CEZ 1 T4 R C
2 e e
| “fg L
017234 567 8 910
=Y
STHfA-3
34. 3ToNg g & I :
2—3y+13=0;3x—2y+12=0 3
5'."4'5675/1;'3 12
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31. Prove that +/3 is an irrational number. 3
OR
Using Euclid’s algorithm, find the HCF of 272 and 1032. 3

32. In a rectangle ABCD, P is any interior point. Then prove that PAZ + PC2 =
PB?2 + PD2. 3

33. In a classroom, 4 friends are seated at the points A, B, C and D as shown in
Fig. 3. Champa and Chameli walk into the class and after observing for a

few minutes Champa asks Chameli, “Don’t you think ABCD is a square ?”

Chameli disagrees. Using distance formula, find which of them is correct. 3
10
8 R T i . e i3
% 5 _ : f_, e
[ : il [ . ; Cﬁl
) ﬂ 8 ST 5. i
2 L i
T
0 :
1 23 4567 8 910
Columns
Figure-3
34. Solve graphically :
2x—3y+13=0;3x—2y+12=0 3
FETTN 13 P.T.0.
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T HE&AT 35 T 40 Teh TIh T h 4 I & |
35. QI HAETTA GYUTIehi T UM% 306 &, Tl qUTieh JTd hIfIT | 4
36. T THIGK 5 I 1791 9 39 8 d UG o G § 5 37Uk & | AMG 38 Ak &) 1 1191
Ug 43§, A S ndl Ug T hIT | 4
reran
FHIA HE 3, 5, 7, 9, ...  TehdH UGI 1 ANTHA 120 BT ? 4
37. U &l % U [hN T TSI T AT, 74! o GEX Tha I T TS Teh & o TIRGR 1 I~
I 60° U1 8 | 99 98 o & 30 T gL ST 2, A 98 I~13 v 30° UTa1 8 | J& hl
TS T A h ST [a AT | [/3 = 1.732 fifsrg 4
38. firg <hifSTu fob Q1 wed RSt < St <l STUTA ITeh! HTA T3 o a1 o STUTA
A AT 8 | 4
Jreran
Torg T Top T o foig & 0 R Ei=h 18 Tt W@t o wemsal sueL g 2 | 4
39. Hd1E 15 WHl TUT S 16 TH ITeT Teh 319 S § § 3T HaTg 3T 3E ATE 9Tl U
I[FETRR WA hIS fT ST 8 | 39 S 319 1 G001 TSI & T Shitag | (39T
IW 7k UGl H g I 1) 4
reran
Teh Wigp <hl SaTs 10 Tt B | 3 Yp 1 IGeh! HaTg & sfeiee A ekt S1d gU Ueh et &
Sl YT § 1T TR 8, Sefeh et I oh IR b THIAL & | GHI T o STRIGHT T 7T
T HIfT | 4
40. =1 IHETAT S 1 95 36 7, A I TRATT (f) 1 HIfrT :
= 0—10 [10-20 | 20—-30 | 30—40 | 4050 | 50 —60 | 60— 70
TRERA 8 10 f 16 12 6 7 4
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https:fbyjus.com



https://byjus.com/?utm_source=pdf+click
https://byjus.com/?utm_source=pdf+click

@BV
e Learning App .t
s
Section - D
Question numbers 35 to 40 carry 4 marks each.
35. The product of two consecutive positive integers is 306. Find the integers. 4

36. The 17th term of an A.P. is 5 more than twice its 8th term. If 11th term of
A.P. is 43; then find its nth term. 4

OR
How many terms of A.P. 3,5, 7, 9, ... must be taken to get the sum 120 ? 4

37. A person standing on the bank of a river observes that the angle of
elevation of the top of a tree standing on opposite bank is 60°. When he
moves 30 m away from the bank, he finds the angle of elevation to be 30°.

Find the height of the tree and width of the river. [Take V3 = 1.732] 4

38. Prove that the ratio of the areas of two similar triangles is equal to the

ratio of the squares of their corresponding sides. 4
OR

Prove that the length of tangents drawn from an external point to a circle

are equal. 4

39. From a solid cylinder whose height is 15 cm and the diameter i1s 16 cm, a
conical cavity of the same height and same diameter is hollowed out. Find
the total surface area of remaining solid. (Give your answer in terms of ) 4

OR

The height of a cone is 10 cm. The cone is divided into two parts using a
plane parallel to its base at the middle of its height. Find the ratio of the
volumes of the two parts. 4

40. The mode of the following frequency distribution is 36. Find the missing
frequency (f).

Class 0-10{10 —20|20 — 30|30 — 40{40 — 50|50 — 60|60 — 70
Frequency 8 10 f 16 12 6 7 4
|.430/2/1. 15
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